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(1 - x5 - y**)2 & graph:

a) x2% +y** + 7% =1. Solve for z: z

0.5

-0.5

=(1-x23"

v &y

1-

By yields x

-y
A top down view of the first octant is shown.
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Solve for x or y when z
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If you take the x values ranging from 0 to

23
)

and the y values ranging from 0 to (1 - x

0.8+

then you can set up the double integral as

follows: (8 times this value is the volume.)
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c) By letting y = sin’0*(1 - x**)*? and then finding dy = 3sin’0*cos8*(1 - x**)** d8 and
getting new limits of integration, you have the following integral which can be solved:
wheny=0,0=kn=0 (if k=0)
wheny=(1- x?y2, 0 =2kn + /2 =n/2
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'[f 1-x3 - sin30(1—x3} [1—x3j 3sin% @ cosB db dx

3
= ﬂf(l—ﬁ) (l—sin29)23sin2 0 cosé d0dx=%

and since this is the volume of one octant, the resulting volume for
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the entire solid is :




